3.3um CCTV Lens / 3.3 u migehICCTVEES

CVL Series

2/3'

[CVL &%)

ARz 3.3umigit, EHUSTLLECCTVE:L
EE6MmM~50mm, 7EELaHtisiR
YeBFNO1.8, MEKIT

03514

30.4

CVL-04514

17.526

29.5

2-M1.7 Lock screw

|

L

$29.5

I
Ny f

X JREEHEOIR : SV-FAD28-305

$28-50
|

4.8 2-M1.7 Lock screw

[ w Lo o; ©
,4{ < S| s <
= NN =

o o o 5

\_C-mount B

X JEEEIEOIN . SV-FAD28-305

CVL-0620

CVL-0818

39 17.526, 38.5 _17.526_
2-M2 Lock screw 4 4
2.7 3.2
= = <
I : = 2 g 5 | @
o 5 L WAl lll |z 38 et s
o = S N H
\_C-mount
C-mount 2-M2 Lock screw
39.5 17.526, 29 17.526,_
4 4
L 2.2 2.9
_ ]
i g
o S N B
8y T g o = Fell o 2
RS S g TI=" T o &
2. RSy
G-mount

2-M2 Lock screw

CVL-7527

42 17.526,

M27P=0.5

®29
Z
972:1 g

) 918

0,5

|
$32
430.5 P
|

G-mount

2-M2 Lock screw

CVL-03514

M27 P=0.5

$29

33.5 17.526_
—>4<—
—t I
=
I o
98 e

D 8-p-8)

C-mount

2-M2 Lock screw

CVL-10035

43.9

17. 526

2.1

0.5

632
30, 5 P
|

$20.5

CVL-04514 CVL-0620 CVL-0818 CVL-1218 CVL-1618

FRIE 3.5 mm 4.5 mm 6mm 8mm 12mm 16mm
FNO F1.4 F1.4 F2 F18 F1.8 F18
NE 77.8° x 105.9° 59.7° x 79.9° 4B84'x619° 37.2°x482° 25°x326° 188°x246°
ZEEWD 200 mm 200 mm 100 mm 100 mm 100 mm 100 mm
TVEE -14.65 % 8.15% -142% -1.19% 0.19% 0.14%
BERE Manual (Lock screw M1.7)  Manual (Lock screw M1.7) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
EESH 1/2" 1/2" 118" 1/18" 1/1.8" 1/1.8"
BEOR M27 P=05 M27 P=05 M27 P=05 M27 P=05
sy 52g 549 629 649 60g 589
g CVL-2518 CVL-3518 CVL-5026 CVL-7527 CVL-10035

j=ii=) 25mm 35mm 50 mm 75 mm 100 mm

FNO F1.8 F1.8 F26 F2.7 F3.5

Ey=:| 121°x159° 11.7°x138° 8.1°x96° 3.6°x4.7° 2.9° x 3.8°

ZEIFWD 250 mm 250 mm 400 mm 1000 mm 1000 mm

TV&HE -0.15% -0.12% 0.01% 0.55 % 0.56 %

BIESE Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M1.7) Manual (Lock screw M1.7)

EEH 118" 2/3" 2/3" 172" 172"

BEOR M27 P=05 M27 P=05 M27 P=05 M30.5 P=0.5 M30.5 P=0.5

=8 60g 489 549 749 769

HOURS

www.hours-web.com




3.3um CCTV Lens CVL Series

I - fERR

CVL-03514 CVL-04514 CVL-0620 CVL-0818

4.5 f6
~200 ©~100

E &k (&8Zmm) 200 200 100 100
98.2x129.1 75.0x98.6
— WENE (KRR - %R ) 266.7x355.6 218.2x290.9 87.3x116.4 66.7x88.9
WD 103+ 130 — T1ERES 200 0x266 7. 163.6x218.2 63.45x87.27 50.0x66.67
5 13" 14x19 1925 — 1/37 {EHATE R 0.018x 0.022x 0.055x 0.072x
112" 18x24 | 24x32  —> /2" {BHIIFTEE i i 635 | 327 1197 | 474

E 025¢ 020 —> ELEE

] i 66.7x87.7 | 39.7x52.2  88.5x116.4 | 40.6x53.4
| i 59.3x79.0 | 35.3x47.1  78.7x104.3 | 36.1x48.1
f i 0.081x | 0.136x 0061x | 0.133x

v
BINEE (t)

CVL-1218 CVL-2518 CVL-3518 CVL-5026 CVL-10035
12 25 35 50 £100
0~100 o0 ~250 o0 ~250 <~ 400 0 ~1000
WD 100 100 250 250 400 1000 1000
”n1.8" 50.9x67.0 36.0x47.3 56.7x73.2 38.6x50.7 39.4x51.8 60.0x80.0 48.0x64.0
12" 45.3x60.4 32.0x42.7 49.5x66.0 34.3x45.7 35.0x46.7 45.0x60.0 36.0x48.0
&% 0.106x 0.150x 0.097x 0.140x 0.137x 0.080x 0.100x
WD 2830 | 68 5180 | 816 1257.0 | 2056 24831 | 2267 50342 | 3750 i i
o5 VI8 1817x1732 | 367x483  174.2x2290 | 30.0x30.4  270.0x3550, 46.6x612  3GIXE07.1, 35Ixd61  KA00x7100 | 36.7x483 ! :
12" 117.0x156.1 | 327x435  154.8x206.5 | 26.7x35.6  240.0x320.0| 41.4x552  342.9x457.1 31.2x41.6  480.0x640.0 | 32.7x435 : :
% 0.041x 0.147x 0.031x | 0.180x 0020x | 0.116x 0.014x | 0.154x 0.010x | 0.147x | |
WD 1340 500 2587 | 683 6381 | 1734 11993 | 207.9 2534.6 | 3534
. ‘

25,6x33.6 138.5x182.1 | 39.7x52.2 186.2x244.8 32.1x42.3  270.0x355.0 | 34.4x45.2
22.7x30.3 123.1x164.1 ' 35.3x47.1 165.5x220.7.  28.6x38.1  240.0x320.0 ' 30.6x40.8

1/1.8" 65.9x86.6
1/2"  58.5x78.0

28.7x37.8 88.5x116.4
25.5x34.0 78.7x104.9

i i
fER  0.082x 0.188x 0.061x 0.211x 0.039x 1 0.136x 0.029x | 0.168x 0.020x | 0.157x i
WD 843 | 383 1685 | 586 40173 | 1495 809.1 |  190.9 17014 | 3343 41658 | 8203 !
5 V18 439x57.7 | 236x310  58.7x77.2 | 224x295  915x120.3 ' 34.6x455  1256x165.1 295x38.8  180.0x236.7 ' 32.3x425 24003200 | 46.2x615 |
12" 39.0x520 | 21.0x27.9  522x69.6 | 19.9x266  81.4x1085 | 30.8x41.0 111.6x148.8] 262x35.0 160.0x213.3 | 28.7x38.3 180002400 | 34.6x462 :
fE2 0123x | 0.229x 0.092x ' 0.241x 0.059x | 0.156x 0.043x | 0.183x 0.030x | 0.167x 0020x | 0.104x !
WD 595 | 302 1248 509 308.2 131.8 600.1 177.4 1284.8 317.4 3185.4 777.0 5016.3 8455
, 18 329433 | 200x263  44.3x58.2 | 19.9x26.1 68.4x89.9 | 30.9x40.6 93.1x122.4. 27.4x36.0  135.0x177.5 | 30.5x40.1 18462062 | 42.9x57.1 WHAM8 | 372496
12" 29.3x39.0 | 17.8x237  39.3x525 | 17.6x235 60.8x81.0 ! 27.4x 36.6 82.8x110.3' 24.4x325  120.0x160.0 ! 27.1x36.2 138501846 | 32.1x42.9 Maess | 27.9x37.2
f&=  0.164x | 0.270x 0.122x | 0.272x 0.079x | 0.175x 0.058x | 0.197x 0.040x | 0.177x 0.026x | 0112« 0021 | 0.129x
WD : : 1156 1 733 2423 | 1238 5349 | 2459 14205 | 6078 2681 7121
5 N 0 i 27.4x36.0 | 18.4x24.2 37.5x49.3 | 19.1x25.1  54.0x71.0 ! 22.8x30.0 738x985 | 30.2x403 9231231 | 27.6x368
12 ] i 24.4x325 | 16.4x21.8 33.3x44.4 | 17.0x22.6  48.0x64.0 | 20.3x27.0 554x73.8 | 22.6x30.2 69.2x923 | 20.7x27.6
f&= | ! 0.197x ! 0.293x 0.144x ] 0.283x 0.100x ! 0.237x 0.065x : 0.159% 0.052x : 0.174x
WD ! 0 511 | 385 1217 | 824 2849 | 1833 8322 1 4754 13521 595.7
o e ' ] 13.7x18.0 | 11.0x14.5 18.8x24.7 | 12.6x16.6  27.0x355 | 16.0x21.1 369x492 | 20.2x269 462x615 | 19.4x259
1/2" | ' 12.2x16.2 | 9.8x13.1 16.7x22.2 | 112x150  24.0x32.0 ' 14.2x19.0 27.7x369 | 15.1x20.2 346x462 | 146x19.4
= : | 0.394x | 0.490x 0.288x | 0.427x 0.200x | 0.337x 0130x | 0238 0104x | 0.247x
WD 0 : ! 815 1 619 2016 1 1494 636.1 | 4090 10468 | 532.7
5 N8 U ‘ 12.5x16.4i 9.5x12.4 18.0x23.7 ‘ 12.4x16.2 24.5x32.7 15.1x20.2 30.6x40.8 15.0x19.9
1/2" ! : | 11.1x148 | 8.4x11.2 16.0x21.3 | 11.0x14.6 184x245 | 11.4x15.1 22.9%306 | 112x15.0
. ! ! ! 0432x ' 0571x 0.300x | 0.437x 0.19%6x | 0317 0157x | 0321x
WD v v : 613 | 496 1599 | 128.1 5381 | 369.1 8941 | 4933
o 118 . ! 9.4x123 | 7.6x99 135x17.8 1 10.1x132 18.4x24.5 I 12.1x16.2 230306 | 12.2x162
12" l i j 83x11.1 | 6.7x9.0 12.0x16.0 | 89x11.9 138x184 | 9.1x12.1 172x230 | 9.1x122
ek y ! | 0.576x |  0.715x 0.400x | 0.537x 0261x | 0396x 0209 | 0.395x
WD g : ! 493 415 1349 1 1134 47192 | 3425 8025 | 4663
RES ' } 7.5x9.9 6.3x8.3 10.8x14.2 } 8.5x11.1 147196 | 101x135 184x245 | 103x137
1/2" | i i 6.7x89 | 5.6x75 9.6x12.8 1| 7.5x10.0 110x147 | 7.6x101 138184 | 77x10.3
o U : ! 0719x |  0.859x 0500x ' 0.637x 0326x | 0.474x 0261x | 0.468x
WD : 0 | EEEE 1183 | 1028 400 | 3234 7414 | 4466
o 8 0 ! w 6382 | 54x71 9.0x11.8 | 7.3x9.6 1234164 | 87116 153x204 | 89x118
12" g ! ! 56x7.4 | A4.8x6.4 8.0x10.7 | 6.5x8.7 92x123 | 65x87 115x153 | 6.6x89
8= : . 1 0.863x |  1.003x 0.600x | 0.737x 0391x | 0553x 0313 | 0542
WD ! : ! k5 313 1064 | 947 4120 3091 6978 | 4316
. 1/1.8" : ' } 5.4x7.1 ' 4.7x6.2 7.7x10.1 1 6.5x8.5 105x140 | 7.6x10.1 13AX176 | 7.8x104
12" i : 1 48x64 | 42x5.6 6.9x9.1 | 57x7.6 7.9x105 | 5x71.6 98x131 | 5878
o ! ! ! 1.007x | 1.147x 0700x | 0.837x 0456x | 0632 0366x | 0.616x
G : 0 ! | 975 | 883 3910 | 2980 665.1 | 4198
0 N8 : ' ! ! 68x89 | 58x7.6 9.2x123 | 68x9.0 115x163 | 7.0x93
12" g | ! | 6.0x8.0 | 5.1x6.8 69x9.2 | 5.1x68 86115 | 5240
= : y | i 0.800x | 0.937x 0522x | 0711x 0418x | 0.690x
WD T ! ! ' 905 | 832 3747 | 2891 6396 | 4103
Y : ; ; : 60x7.9 | 52x6.8 82109 | 61k 10238 | 63384
1/2" | ! ! ! 5.3x7.1 1 4.6x6.2 6.1x82 | 46x6.1 7.7x102 | 4.7x6.3
fers g ' ] ! 0.900x | 1.037x 0587x | 0.790x 0470x__ | 0763
G u y ] j 850 | 789 3616 | 2818 6193 4025
50 V¥ i ! ! ' 54x71 | AT7x6.2 74x98 1 55x7.4 9123 | 57x16
— : : ! 0 48x64 | 4.2x5.6 55x74 | 41x65 69x92 | 4357
e T T ! | 1.000x 1 1137x 0652x | 0.869x 052x | 083%x

HOURS °

www.hours-web.com



Mega Pixel Machine Vision CCTV Lens/ s#g=cCcTvE:L

CVL-M Series

PrENMMSN2/SRIFnoA1.48RERL, JUNM2005~500G5&EMNE

FEERN, —BONMRBAETUWROERERL, ERAOMHFLDLEMD
FRE TR HT T ALK

EREBME~100mmL1240H18, SAEINCCTVRABLHLETESEE,
BXHUEER, MZHNBAEEM. RESRSWEH.

CVL-0614M CVL-0814M
51.5 17. 526, 52.5 17. 526,
2-M1.7 Lock screw 4 2-M1.7 Lo
4
w) _ ol
& \ g
| s s w d
g ;| s N o al =l 9 =2
S g = 3 3 3 8 N
\_C-mount
Novie -
ARG CVL-2514M
17. 526, 36 17. 526
4 2-M1.7 Lock scre 4
3.1 3.5
= .
= B o
7 | i 5 =
w | o —’r w o 2 = g ©
: i L. : [ I R I o
238 11 l4§ E 3
AN
\_C-mount
CVL-7525M
51.5 17.526_ 49.5 17.526_,
2-M1.7 Lock screw 4
g ) g ‘
a o s ﬁ £
s| o H =
199 83 et
~ - C-mount

1 /hI5E

__cviootam JEENEWIRY  cvi-1214v

34 17.526 51

=0. 5,

636
N34 P:
|
|

507060 90 o W

Slis-v82 2 w1

2-M2 Lock screw

C-mount

L-3514M

‘ 45.5 17.526_
0.4
o)
o
I :
3 5 o _LIE p
338 = g
CVL-10028M
66.5 17. 526
2-M1.7 Lock screw 4
] ‘
g

$39
M37.5 P=0.5

9 -8-v 87
0L 02 o W
T
|

i

C-mount

17.526, 41.5 17. 526, 39
4 4 4
2-11.7 Lotk screw 2-M1.7 Logk sorew 2-M1.7 Lock sgrew
3.6 2.5
I = = T T o1 o] | o] | B
T n T ~ T - @ &
it = sl 9 = 5 ol 9 = g o =
g8=7F =R N 8T 8 81—
i = = &
2-M1.7 Lock screw

RT3

f

I
Lo

T

|

|
1

CVL-0614M CVL-0814M CVL-1214MF CVL-1614MF CVL-2514M CVL-3514M CVL-5014M
j=3ii3) 6 mm 8 mm 12 mm 16 mm 25 mm 35 mm 50 mm
FNO F1.4~16 F1.4~ 16 F1.4~16 F1.4~16 F1.4~16 F1.4~16 F1.4~16
B0 60.3° x 69.0° 47.9° x 55.4° 33.4° x 39.1° 24.5° x 28.9° 16.2°x 19.1° 11.6° x 13.7° 8.1°x 9.6°
ZEIFWD 100 mm 100 mm 100 mm 100 mm 150 mm 200 mm 300 mm
TVERE -0.06 % 0.10 % 0.04 % -0.18 % -0.06 % -0.13% 0.02 %
= o Manual
BAETA (Lock screw M1.7)
EATH 2/3" 2/3" 273" 2/3" 2/3" 2/3" 2/3"
prstiimbzd M 405 P=0.5 M355 P=0.5 M34 P=05 M35.5 P=0.5 M27 P=0.5 M 355 P=0.5 M40.5 P=0.5
& 1429 1249 12g 124 g 60 g 1429 165 g
CVL-7525M CVL-10028M CVL-0914M CVL-1214M CVL-1614M CVL-5026M
j=3:=] 75 mm 100 mm 9 mm 12 mm 16 mm 50 mm
FNO F2.5 ~ Close F2.8 ~ Close F1.4 ~ Close F1.4~16 F1.4~ 16 F2.6 ~ Close
B 8.6° x 8.6° 6.6° x 6.6° 43.4° X 51.0° 324" x37.9° 24.8° x 29.2° 8.1°x9.6°
ZEEWD 1200 mm 2000 mm 100 mm 100 mm 100 mm 500 mm
TV.RE 0.05 % 0.08 % -1.94 % 0.06 % -0.16 % 0.01%
2 (e Manual
S iRak (Lock screw M2)
BATE T " 2/3" 273" 23" 273
EEOE M34 P=05 M37.5 P=05 M27 P=0.5 M27 P=05 M27 P=05 M27 P=05
58 84g 104 g 549 80 g 769 B4 g

HOURS

PEEE————
www.hours-web.com



Mega Pixel Machine Vision CCTVLens CVL-M Series

CVL-0814M | CVL-1214MF| CVL-1614MF| CVL-2514M
8

©~100

CVL-3514M | CVL-5014M CVL-5026M CVL-7525M | CVL-10028M

100 100 100 100 150 200 300 1200 2000
o 28 134,0x158.5 101.4x120.0 68.9x81.6 52.2x61.8 47.7x56.4 42.0x49.7 42.3x50.0 65.7x77.8 102.9x121.7 136.5x161.5
172" 90.6x120.8 68.6x91.4 46.6x62.1 35.3x47.1 32.2x43.0 28.4x37.9 28.6x38.1 44.4x59.3 69.6x92.8 92.3x123.1
fisE 0.053x 0.070x 0.103x 0.136x 0.149x 0.169x 0.168x 0.108x 0.069x 0.052x
WD 588 | 206 1125 | 457 2805 | 67.2 5030 | 797 12320 . 1338 24937 | 1905 1 i i i
05 23" B6x1024/52.6622 112713353.4x63.2 1732049)49.3x58.3 2002710, 42.5650.3 366.0:420.0,42.0x49.7 5076000, 38.8x45.9 ! j g j
1/2"  58.5x78.0,35.6x47.4 76.2x101.6)36.1x48.1 117.1x156.1| 33.3x44.4 154,8x206.5, 28.7x38.3 240.0x320.0,28.4x37.9 342.9%451.126.2x35.0 | | | |
{85 0082 . 0135  0.063x | 0133 0.041x | 0.144x  0031x | 0167x  0.020x . 0.169x 0.014x ' 0,183x 1 | | |
WD ' i 1324 | 487 2417 | 645 6071 ' 1182 12004 !| 1760 25027 | 277.0 25346 | 4255 ' !
, 2 ; 87.7x103.7338.6x45.7 114.5x135.5535.9x42.4 177.5x210.0537.6x44.4 244.8x289.7i35.9x42.4 355.0)(420.0337.8)(44.7 355.0)(420.0355.5)(65.6 3
1/2" i ‘ 50,3x79.01 26,1x34,8 77.4x103.2124,2x32.3 120.0x160.0: 25.4x33.9 165,5x220.7124,2x32.3 240.0x320.0125.5x34.0 240.0320.0, 37.5x50.0 : |
fisk : ! 0081x | 0.184x _ 0.062x | 0.198x__ 0.040x ' 0.189x  0.029x ' 0.198« _0.020x ' 0.188x__ 0.020x | 0.128x i w
WD 0 ; 814 | 365 1547 | 534 3988 | 1055 8074 | 1643 1669.3 | 2636  167.7 | 397.2 38564 | 950.1 j
s 2 1 58.2x68.9331.6x37.3 76.3)(90.3531.0)(36.7 118.3x140.0534.0x40.2 165.1x195.3i33.5x39.6 236.7x280.0335.9x42.4 236.7x2&0.0351.4x60.9 355.0x420.0579.8x94.4 ‘
12" | | 39.3x52.5121,3x28.4 51.6x68.8121,0x27.9 80.0x106.7123.0x30.6 111.6x148.8122.6x30.2 160.0x213.3124.2x32.3 160.0x213.3134.8x46.4 240.0x320.01 63.9x71.9 |
f& 0 ! 0.122x | 0.225x  0.093x | 0.229x  0.060x | 0.209x  0.043x ' 0.212x  0.030x | 0.198x  0.030x | 0.138x  0.020x ' 0.089x .
WD | i | 1122 | 45.2 2947 | 95.1 607.4 | 1541 12527 | 251.4 1261 | 3728 28839 | 896.9  5021.5 | 1490.6
, 2B | | | 57.7x68.3 27.4x32.4 88.8x105.0131.0x36.7 124.6x147.4131.4x37.2 1775x210.0134.1x40.4 177.5x210.0148.0x56.8 263.0x311,1, 74,7x88,4 355.0x420.0198.6x116.7
12" ' ! ! 30.0x52,0 18.5x24.7 60.0x80.0'21.0x27.9 84.2x112.3 121.2x28.3 120.0x160.0/23.1x30.8 120.0x160.0! 32.4x43.2 17782310/ 50.5x67.4 240.0x320.0! 66.7x88.9
[EES | i i 0.123x | 0.259x  0.080x | 0.229x  0.057x | 0.226x  0.040x | 0.208x  0.040x , 0.148x  0.027x |, 0.095x  0.020x | 0.072x
WD : l l | 107.2 © 575 2381 1 1114 5027 | 197.6 5349 | 2753 12266 . 663.1  2049.8 | 1081.8
g 3 ' i ! ' 35.5x42.0120.3x24.1 49,7x58.7122.8x26.9 71.0x84.0126.5x31.3 71.0x84.0134.1x40.4 106.0x125.4'52.6x62.2 139.2x164.7' 68.9x81.6
172" 0 ] : g 24.0x32.0'13.8x18.3 33.6x44.8' 15.4x20,5 48.0x64.0'17.9x23.9 48.0x64.0!23.1x30.8 71.6x95.5! 35.6x47.4 94.1x125.5 | 46.6x62.1
fax 3 i | : 0.200x | 0349  0.143x | 0.312x  0.100x | 0.268x  0.100x | 0.208x 0.067x . 0.136x  0.051x | 0.103x
WD i | i i 447 | 315 1157 1 761 2527 | 1469 2849 | 1973 6715 | 4790 10911 | 767.4
0 28 0 ; ; 0 17.8x21.0/12.9x15.3 24,8x29.4'15,6x185 36.5x42.0'19.3x22.8 35.5x42.0' 23.1x27.3 53.4x63.2/35.1x41.6 69.6x82.4!46.1x54.5
172" 0 i l 0 12.0x16.0| 8.7x11.7 16.8x22.4,10.5x14.1 24.0x32.013.0x17.4 24.0x32.015.6x20.8 36.1x48.1,23.8x31.7 47.1x62.7.31.2x41.6
f5 | | i | 0400x | 0549x 0.286x | 0.455x  0.200x | 0368 0.200x | 0.308x 0.133x | 0.202x 0.102x | 0.154x
WD ' ! ! ! ' 750 | 578 1693 | 1179 2016 ' 1575 4827 ' 3866  771.6 | 6095
s 23 : 3 16.6x19.6i11.9x14.1 23.7x28.0315.2x17.9 23.7x28.0317.4x20.6 35.5)(42.0526.4)(31.2 46.4x54.9334.6x41.0
172" | ‘ | | i 11.2x15.01 8,0x10.7 16,0x21.3110.313.7 16.0x21.3111.8x15,7 24.0x32.0. 17.8x23.8 31.4x41.8123.4x31.2
EES y 1 I 0 ! 0.428x | 0597x  0.300x ' 0.468x  0300x ' 0.408¢ 0200x ' 0.269x  0.153x ' 0.205x
wD [ ; : 0 0 546 | 465 1277 | 99.1 1599 | 1334 3887 | 3317 6095 | 513.0
s 2B l ‘ 12.4x14.75 9.6x11.4 17.8x21.0312.5x14.8 17.8x21.0114.0x16.5 26.6x31.5,21.2x25.1 34.6x41.0127.6x32.7
12" i | | | i 84x11.2 | 65x8.6 12.0x16.0! 8.5x11.3 12.0x16.01 9.4x12.6 18.0x24.0' 14.3x19.1 23.4x31.2!18.7x24.9
e | ! i . | 0571x | 0.740x  0.400x | 0.568x  0.400x | 0.508x  0.267x | 0.335x  0.205x | 0.257x
WD i | | | i 423 | 388 1027 | 859 1350 | 117.2 3324 | 2944 5145 | 4500
s 23 | | 1 i i 9.9x11.8 1| 8.0x95 14.2x16.8/10.6x12.6 14.2x16.8111.7x13.8 21.3x25.1117.7x20.9 27.7x32.8123.1x27.3
172" ! ! ! ' ! 6.7%9.0 | 5Ax72 9.6x128 | 7.2x9.6  9.6x12.8 | 7.9x10.5 14.4x19.2'11.9x15.9 18.8x26.0' 16.6x20.8
fg | i i \ | 0.714x | 0.883x  0.500x | 0.668x  0.500x , 0.608x  0.334x , 0.402x  0.256x ; 0.308x
) | l | i 0 341 1 333 860 | 762 1183 | 1056 2053 .| 267.8  451.0 | 4049
0 2B ' i ! ! ' 8.3x9.8 | 6.96.2 11.8x14.0! 9.2x109 11.8¢14.0/10.0x11.9 17.8x21.0' 16.1x17.9 23.1x27.4!19.8x23.4
12" y ] ! | y 56x7.5 | 47x62 8.0x10.7 | 6.3x83 8.0x10.7 | 6.8x9.0 12.0x16.0,10.2x13.6 15.6x20.8,13.4x17.8
fE : 1 l | i 0.857x | 1.026x 0.600x | 0768x  0.600x | 0.708x  0.400x | 0.469x  0.307x | 0.359x
WD - ! ! ! - 741 1 687 1064 | 968 2684 | 2478 4056 | 3710
5 2 i ! ; g i ' 10.1x12.0' 8.2x0.7 10.1x12.0! 8:8x10.4 15.2x18.0,13.2x15.7 19.8x23.5, 17.3x20.5
1/2" i | | | i | 6.9x9.1 | 5.5x7.4  6.9x9.1 | 5.9x7.9 10.3x13.7, 9.0x11.9 13.4x17.9/11.7x15.6
fissg i | i | | | 0.700x | 0.868x 0.700x | 0.808x 0.467x | 0536x  0.358x | 0.410x
WD ' : ! i — i 652 ! 627 975 | 90.0 2483 | 2325 3716 | 3446
w0 2 E 8.9x10.53 7.3x8.7 8.9x10.53 7.8x9.3 13.3x15.7i11.8x14.0 17.4x20.5315.4x18.2
12" i TR - . 6.0x8.0 | 5.0x6.6 6.0x8.0 | 53x7.0 9.0x12.0 1 8.0x10.6 11.7x15.6'10.4x13.9
fas - RRIEE BFRER (#4Zmm) : 0800x ' 0968 0.800x | 0908x 053x | 0.602x 0409 | 0461x
wD | bk L — JEGE (SE -~ TR ) ! 582 | 57.9 905 | 846 2329 | 2200 3451 | 3235
o 2 i 103 1 130 —> T{ESRES I 7.9x9.3 1 6.6x7.9 7.9x9.3 | 7.0x8.3 11.8x14.0,10.6x12.6 15.4x18.3113.9x16.4
172" ' : 1 419 1 19x25  — /37 HALHER | 5.3x7.1 1 45x6.0 5.3x7.1 | 48x63 8.0x10.7 | 7.2x9.6 104x139! 9.4x125
fls | 112" 18x24 | 24x32  —> 1/27 HEHNIFEE ! 0.900x | 1.068x  0.900x | 1.008x  0.600x | 0.669x  0.460x | 0.512x
WD i % 025 1 020x —> fESkfER 0 527 | 539 850 | 801 2203 | 2098 3239 | 306.2
% 2/3: éﬂ?E () . 7.1x8.4 w 6.1x7.2  7.1x84 w 6.4x7.6 10.6x12.6: 9.6x11.4 13.9)(16.4:12.6)(14.9
112 ' g 48x64 | 41x55 4864 | 43x68 1.2x96 | 65x87 9.4x125 ' 85x114
sk | | | | | | 1.000x | 1.168x  1.000x | 1.108x  0.667x | 0.736x  0511x | 0.563x
( )
CCTV%%QCXT_“:UEI THRT MTF (Lp/mm)
CVL-M
3um 160 Lp/mm
CVL
Sum 100 Lp/mm
7um CVL 70 Lp/mm
10um - 0 50 Lp/mm
& =)
&
N\ _J

HOURS -’

www.hours-web.com



1"CCTV Lens / 51" FCCTVES L

CVL-M1 Series HIFR

1" BAGBEMNMNACCTVE:SL
o % 400-900515, 1" 5
LATROEHAICCTVER K,

o BIRERIEEM6mMmM
E100mmAYESkLARLIEEE,

=R EN:

17. 526,

4

o BRE, WURSECMOSHEL.
o [BXE. BERL.

$64.5
$63.5
$22.8

SRS CVL-1214M1
59 17. 526 59 17.526, 48 17. 526
4 4 4
3
2 = P
S| < =
i - : .z :
3 4 %8 ‘FREEE e (REE
H
B ElE
— 2-M2 Lock screi 2-M2 Lock screw C-mount
CVL-1614M1 CVL-2514M1 CVL-3514M1
45 17.526 33.5 17.526 35.0 17.526
4 4 4
4.9 2.5 1.5
BE _g
= =] =
i b = b =
o =
gl @ N gl 9 _ 2l = F] I Y | Y I -1 g s
2 g — §8 q ¢ T e g s g i N
: H:
G-mount M G-mount 942 Look sorew /. G-mount
CVL-7525M CVL-10028M
44.5 17. 526 49.5 17.526_ 66.5 17.526_
4
1.2 2-M1.7 Lock screw 4 2-M1.7 Lock screw 4
I ’5 g i
) a = 5 B
g8 e 93 83 R 28—t
Iz v e I
G-mount C-mount C-mount

2-M2 Lock screw

CVL-0618M1 CVL-0814M1 CVL-0814M1N CVL-1214M1 CVL-1614M1
h-ii=) 6 mm 8 mm 8 mm 12 mm 16 mm
FNO F1.8~ 16 F1.4~16 F1.4~16 F1.4~16 F1.4~16
EUb=:] 87.3° x 87.3° 71.8°x71.8° 72.7° x72.7° 50.8° x 50.8° 38.6° x 38.6°
ZEIEWD 100 mm 100 mm 100 mm 300 mm 300 mm
TVEE -0.61 % -0.54 % -0.35% -0.32 % -0.65 %
BIEGE Manual(Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
=iy 1 1 1 1" "
EEOR = M55 P=0.75 M55 P=0.75 M355 P=05 M305 P=05
E3 2059 175 g 185 g 130 g 120 g
g CVL-2514M1 CVL-3514M1 CVL-5018M1 CVL-7525M CVL-10028M
pdic) 25 mm 35 mm 50 mm 75 mm 100 mm
FNO F1.4~ 16 F1.4~16 F1.8 ~16 F2.5 ~ Close F2.8 ~ Close
L= 25.1° x 25.1° 18.3° x 18.3° 12.8° x 12.8° 8.6° x 8.6° 6.6° x 6.6°
ZEIRWD 300 mm 300 mm 500 mm 1200 mm 2000 mm
TVEE -0.46 % -0.31 % -0.01 % 0.05 % 0.08 %
BIERE Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M1.7) Manual (Lock screw M1.7)
Pe=yyay 1" 1" 1" 1" 1"
BEOR M305 P=05 M30.5 P=0.5 M40.5 P=0.5 M34 P=0.5 M37.5 P=05
E 84g 92g 128 g 84g 104 g

HOURS

www.hours-web.com



1"CCTVLens CVL-M1 Series

IR - fBRR

CVL-1214M1
12 CVL-1614M1
e - CVL-2514M1
s e CVL-3514M1 C

@ 296.3x296.3 o - s
{2;; 28093096 212,5x212,5 1 msoo ! fzoc
:\ID o022 134,0x158.5 S o 0 =

" — : — o 7.501572 .4x95.4 111
o5 274,6x274.6 ' 140,8x140 o : o e e =
x 70T | . .8 363.2x363.2 | 134, s : o s e
— S0 | 33(.)3;105.0 229.0x271.0 3 84, :r:(1103: ;) I o : = z o
I = - . I : | o d 97.4
: b | o | ey b 3x8043 | 85.3x85.3 : oo

1 1" 135721357 | 93 ?9 261.2 | 01.:4:: s : 0.108;—4 i ra— 1;?32)(1 ot
23" 85.5x101.2 58'7"93.1 184.6x184.6 1 98 3x£>3 s : o s : s 0- = E
g5 0.083x | .7x69.4 116.4x137.7 : 62'3 7 2 e : e 1o 1 i = | =
e T I 57109 013 ; 0. 1);43.7 182.1x215.4 | 58.2x68'9 S : e : =

= = : 557.7 o : 1-05 g 21 . 0_122; 253.6x300.0 |  48.6x57.5 322'2)(563'0 oo
- 09005 |0 5x69.5 122.4x122.4 | 777 ;7 oo : o out ; En n
. i I 29055 2| 49.Ox 7 190.8x190.8 | 79.9x;9 9 o : e s I £
wD 55.9 ! 0.162x 0.092x ! o- 11(157-9 L= 50-4)(59.6 o = : :

g 67.8x67.8 55 424 126.9 : ;36 zx e : o X- s Z?Xym =
23" 428x50.6 34'2x55.2 92.3x92.3 | 64 3x.64 o : oo T 0-7)(280-0 o
xR 0.166x s -8x41.2 58.2x68.9 | 40- " LT R T oo : = = | =
e : ot b2:60 : .6x48.0 89.9x106.3 ! 44-1 5. 3 IDoE Sk I : o

= i : 0;;5)( S0 0.. 1); 11.2 124.6x147.4 40.6x48:0 -
2/3" : 36.9x36.9 | 31,5,(.:1 5 =z : &2 ) | S 17;.50)(210.0 _—
o : %9060 | 3150 ] 57.2x57.2 | 40.4x40.4 o : e Ca—
. 521 i 0. 3x 3.5 36.0x42.6 25.4)(30.1 . o o

= I | oz o0z | 0.279)(. 50.0x59.2 |  27.3x323 1;??(1 o seaans
- | | 1 : 278 0.142x i 0.260x o- o e
. i 28.7x28.7 | 23.7x237 — ; — 2'100)( : I
: I | BT 14.9)(17.6 39.5x39.5 | 27.9x27.9 56. = : g
£ | | Enile  as . 24.9x29.5 | 17.6x20.8 e ears
: : ‘ o1 029 ! 35.5x42.0 | 236
I : : | 0.403x 0.200 : o
- | | : 84.1 ! 66.3 3 I s
: | : ?z.zxfm i 20.7x20.7 37157:327 5 o

- : : : 0.4x 97 | 13.0x15.4 23.7x28.0 s
: : | : ;; 27x 1 0.545x 0.300 R
L : | - 31.159 ; 52.9 1'29 3X e
v:/? : : . 12.5“4.3 | 1641164 28.1x28.1 : 2 oo

: : | : = 7 10.3x12.2 17.7x20.9 T
: | | : .570x ! 0.688x SRR
: : ‘ | 570 : 008 01.221x ' 0.501x

I ‘ | y
W? : : : 1 :sﬁ:?: | 13.6x13.6 22.5xé52 5 : i
£ | | : 0x11.8 | 8.6x10.1 14, 2x16. —renes
- | | : 0.712x i 0.830x 0- SRR
: : ; | 72 : 50 501 ! 0.602x
: 3 132x132 | 11.6x11.6 132;7.9 : -

g I | | 83x9.8 | 7.3x8.6 11- A
: : ; | 5208 : 5100 8x140 | 10.1x12.0
: i : 2 ‘ ke 0.601x | 0.702x
: | | 11.3x11.3 3 10.1x10.1 16.71‘)5(-10 o

= | | . 70x84 | 6.4x75 TR
: : : I s : 75 10.1x120 | 8.9x10.5
: : : 0701x | 0.802x
WD ; : | | R

2 : : | | - :cmo 51 | 125125
: : : : : .9x10. | 7.9x9.3
: : ; | : 0.801x ' 0.902x
: : ‘ _ Zo.z 54.6

2 : : | 1 7.9x;2.5 L M2d12
; I : : : .9x9.3 ! 7.1x8.4
: : ‘ | : 0;59:); x ' 1.002x

1 ‘ | . I
‘ I ‘ '
| : | M2x11.2 10.52?;110 2
, : 7.1x84 ! :
‘ X | 6.4x7.6
1.001x | 1.102x
E&EA (BALmm)
— WEMLE (RE < ~ LR
: — TiEEE )
: 1 14x19 ' 1925 ——> 17 ”
17 BYIEER

213 18x24 | 24x32 ——>
. : 2/3"H
& 0.25x + 0.20x —* ﬁ%f;ﬂénmﬁﬁﬁ

v
BRIMEE (t)

HOURS

www.hours-web.com



Mega Pixel Machine Vision CCTV Lens/ s#&=CCTV&E:L

CVL-TY Series
o H3E2/3"1EW
o FEFEM I8 ~16mmIL3/ M Fth
o SHETESNLILE, BRI T /NEUGIZTT

10

CVL-0826TY

CVL-1220TY

39 17.526 48 17,56, 17, 526,
4 4
2-M2 Lock screw \m 3 30 2.5
I 3. - < . T 5o g
3y T g2 g § L -—Jis -] g 8 98 T1-hamn 1Y 2
C-mount C-mount
C—mount
2-M2 Lock screw 2-M2 Lock screw
g CVL-0826TY CVL-1220TY CVL-1620TY
b 8 mm 8.17) 12_mm (1232) 16 mm___ (1631)
BAORL 1:26 1:20 :
el F4822°6 ~ . 6C%(35e ngzé(z ~ 3§I;)§e F 20 ~ Close
N . X . 4 X o T7° .2°
e (2/3") (Diagonal: 70.3°) (Diagonal: 50.2°) ’ 7(Diagxona?:9 §7.9°)
Z=i1EWD 100 mm 100 mm 100 mm
TVE (2/3") 0.82 % -135 % -047 %
RAEA Lot M2) (Lo 2l \12) (Lockanual \i2)
RITRE Visible Visible Visible
0 C-Mount C-Mount C-Mount
ST 17.526 mm 17.526 mm 17.526 mm
BETH (max) 2/3" 2/3" 2/3"
IBEOE M 27 P= 05 M 27 P= 05 M 27 P=05
= -9 -9 - g
IR - BFER I CCTViESkRILLE
CVL-0826TY CVL-1220TY CVL-1620TY BHRY MTE
8 12 f16 (Lp/mm)
e 00 ~100 00 ~100 00 ~100
WD 100 100 100
o 2 100.0x 118.3 645x 764 48.3x 57.1
112" 67.6x 90.1 436x 58.2 327x435
fsg 0071 0.110¢ 0.147x 3um | 160
WD 1202 | 477 289 | 700 5150 | 810
o5 28 1164x137.7) 534x632 1732x2049) 47.0x 556 229.0x 2710, 40.1x475
12" 787x1049 | 36.1x481 117.1x 1561, 31.8x 424 1548x 2065, 27.1x 36.2
e 0061k | 0133 0.041x ' 0.451 0031x 0177
WD : 1405 | 526 2562 | 67.3 5um 100
, W ! 87.7x 1037 | 37.0x438 116.4x137.71 34.1x40.4 CVL
172" ! 503x79.0 | 25.0x333 78.7x104.9 | 23.1x 30.8
fissg : 0.081x | 019 0.061x | 0.208x
WD . 894 | 415 1662 1 571
5 W ; 582x 689 | 30.6x362 77.2x913 | 297x 35.1 7um "
e | 393x525 | 207x27.6 522x69.6 | 20.1x 26.8 1% o E]
e : 0122« | 023X 0092« | 0.239 "
WD : 644 | 335 1215 | 495
, W ; 438x51.9 | 260x30.8 57.7x683 | 264x31.2
112" : 296x39.5 | 17.6x234 390x520 | 17.8x 238
fiesg i 0162« | 0.273x 0123 | 0.26%

103 1 130
113"
112"

|EES

18x24 | 24x32

14x19 | 19x25

0.25x | 0.20x

E R (Bfmm)

— MEMUE (JiE- - R )
— T{EEEES
— 1/3"CCD{IFER

— 1/2"CCDIFEE

v
BINEE (t)

— FkfEE

HOURS

www.hours-web.com



1.1" CCTV LENS / 3115 2 H9CCTV L
CVL-MV Series [EE
4117484,

M8mm-T6mmIt =FRE Sk LA I%ERR

SETES#ERCCTVERL

CVL-0828MV

62.5 17,526
. 54 17.526, 50.5 17.526
— 3 4 4 A‘
5 o | of | i
i by T P
2 8 T R {e 5 g — 3
A1 - il =
\_C-mount 1| el — =
| 2-M2 Lock screw \_C-mount 2-M2 Lock screw C-mount

FHE CVL-0828MV CVL-1220MV CVL-1620MV
jeSiizl 8 mm (8.24) 12 mm (12.39) 16 mm (16.53)
BAOEL 1:28 1: 2.0 1:2.0
Sl F 28 ~ 16 F 20 ~ 16 F 20 ~ 16
W (01 67.1° X 857° 46.7° X 61.9° 354° X 476°
s (LT (Diagonal: 99.3° ) (Diagonal: 75.1° ) (Diagonal: 59.3° )
ZEFEWD 100 _mm 100 mm 100_mm
TVAE (119 -1.20 % -1.29 % -1.31 %
BIESE Manual  (Lock screw M2) Manual  (Lock screw M2) Manual  (Lock screw M2)
RIHRIS Visible Visible Visible
O C-Mount C-Mount C-Mount
AT E 17.526mm 17.526mm 17.526mm
EATA (max.) 11" 1.1" 1.1"
EEOR M 55 P= 0.75 M 405 pP= 0.5 M 355 P= 05
R -9 -9 - g

= =E 5
DN - fAER

E R (BfImm)

—— XEME (L - X )
— T1EEE
— 1/3"CCDIIFERE

103 1 130

LR L
113" 14x19 ' 19x25

5
172" 18x24 | 24x32 —> 1/2"'CCD#IFERE
R -
f&E 0.25x 1 0.20x —> §kfEE
v

BINEE ()

MRS

FEpEE | %5 | M

(mm) ;
8 CVL-0828MV = (@)
T CVL-MV| cvL-1220Mv = @)
5 CVL-1620MV — @)
o CVL-2514M1 A (@]
3% CVL-M1|_ CVL-3514M1 A (0)
@ CVL-5018M1 A (@]
O : tesEmsn=

A - SRS 1T ANE. BEGNSEETEEE TR

CVL-0828MV CVL-1220MV
f8 12
0 ~100 0 ~100
100 100 100
0 145.1x 198.6 96.3x 131.8 73.0x 100.0
100.0 x 118.3 66.4 % 78.5 50.4x 59.6

fissg 0.071x 0.107x 0.141x

WD 192 | 466 2040 | 685 5339 | 795
05 ' 1689x231.1.780x 1068 267.5x3525. 70.1x959 3433x4700; 602x825

12" 1164x137.7, 538x63.6 177.5x 210.0| 48.3x57.1 236.7x280.0! 415x49.1

R 0061k 013 0.040x | 0.147x 0030k | 0.471x

wD 522 1 211 1372 | 501 2583 | 650
;M 851x1165 | 536x734 127.2x174.1) 548x750 171.7x2350: 51.2x70.1

12" 587x694 | 37.0x438 87.7x1037 | 37.8x447 1183x1400' 353x418

i 0121x | 019X 0.081x | 0188 0060x | 0.201x

) i 866 | 385 1645 | 540
s M ! 851x 1165 ' 452x61.8 1132x 1549 44.4x60.8

12" | 587x69.4 | 31.1x368 78.0x923 | 30.6x 36.2

figsR ; 0121x ' 0.228 0.097x | 0.232

WD : ! 194 | 459
, M ' | 85.1x 116.5 | 39.3x 538

12" | ! 587x69.4 | 27.1x 321

faER i : 0121x | 0.262x

HOURS "

www.hours-web.com



CCTV Lens for high speed camera./ &Nt CCTVEL

CVL-085 Series
4/3"117[ 17 [1/1.2

Fno 0.85AMBME AN 1HEE (ZHIAE)
XFR4/3" KA1
BXYHE. {fKE

CVL-25085M42 CVL-50085M42 CVL-50085C

FHMREK EMRR AN
83.5 19.53, 85.5 17.526 79.5 19.53 81.5 17.526
2-M2 Lock screw _4_ 2-M2 Lock screw 2-M2 Lock screw A 2-M2 Lock screw 4
= e Y = T [l T — | [E ] | |E
s — |E — |[® w0l — |[" w0 — ([
2 [ ] | 2 . 2 ||k
3 .= 2 .= 7| e ° T
a — 'ﬁ I S o - - [
B[ 8| ) - ¢ e ol - it 3 g £ o-fi--— 4| 8| g T &
b ] g s9 [ | 7 |3 S e
& & & &
mE S - ="
C-mount — — C-mount
paki-4 CVL-25085M42 CVL-25085C CVL-50085M42 CVL-50085C
j=3ii=) 25 mm 25 mm 50 mm 50 mm
ENO F0.85 ~ 16 F0.85 ~ 16 F0.85 ~ 16 F0.85 ~ 16
0| 30.3° x 40.0° 30.3" x 40.0° 15.9° x 21.0° 15.9° x 21.0°
EEWD 170 mm 170 mm 240 mm 240 mm
TV&E -1.21% -1.21% -0.30 % -0.30 %
BIESE Manual (Lock screw M2) Manual(Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
EEGH 4/3" 4/3" 4/3" 4/3"
BEOE M55 P=0.75 M55 P=0.75 M62 P=0.75 M62 P=0.75
EE 570 g 570 g 610g 6109
0 M42 P=1.0 c M42 P=1.0 c

3% C-mount's maximum aperure ration is 1:090

Inner Surface Inspection of Bottles and Containers - Rz T Bl A m B2 e Ml i 65 Sk

12

CVL-WAS Series

NMATREFERERNRRX HESR

CVL-06520WAS 2VSTRR R FEIZITHY
B AREREETAEL -
KIfEEEERI - RIE 7SR ZEESE -
FETE - RRIYE -

f

Space for Lighting

O 1.M4p4
O 288 B/IHESANROTMMMT
3.EXR  ERA0.Tmm

CVL-06520WAS
100.0 (0,086~ o ) 1488 .52

2-M2 Lock screw ﬁ\fﬁo Fz‘% imTé
=) 32.0°x 43.2°
= ) ZEWD 100 mm
S 1 BIEAE Manual (Lock screw M2)
I R | [ U BEESH 1/3"
2 g EROE W6 P=0.75
8 410g

HOURS

www.hours-web.com



1" SWIR Lens / &1 8 EHEESWIRESSL

CVL-SWIR Series [HIES
T A E DS E=SWIRE L FHRG

o THNIR/SWIR igit 5;1 4”-526

o BRGEBITE

o TR

® 700nm-2000nmAyEIREI=R % % i %

CVL-0814SWIR EEEY M CVL-1214SWIR [cvi-1614swik - [

59 17. 526, 48 17. 526,
: 4 45 17. 526,
1.6 3 4
¥ 4.9
= = 7
I - iR E -
] = ] o © _le o ;
o7 Y5 E e 9e S
- 3 g
) - =|
C-mount r < =
- 2-M2 Lock screw 2-M2 Lock screw C-mount

44.5 17.526
33.5 17. 526, 35.0 17,526, :
: : 1.2
2 1.5
10|
=1
& T J S 1.
gl 9 “ w ol =@ 1 . ol w g g ] = | g 3
i I g S g i 33 g
C-mount 2-M2 Lock screw C-mount

2-M2 Lock screw

CVL-0618SWIR CVL-0814SWIR CVL-1214SWIR CVL-1614SWIR CVL-2514SWIR CVL-3514SWIR CVL-5018SWIR
=iz} 6 mm 8 mm 12 mm 16 mm 25 mm 35 mm 50 mm
FNO F1.8~16 F1.4~16 F1.4~16 F1.4~16 F1.4~16 F1.4~16 F1.8 ~16
=] 87.3° x 87.3° 71.8°x 71.8° 50.8° x 50.8° 38.6° x 38.6° 25.1° x 26.1° 18.3° x 18.3° 12.8° x 12.8°
EEWD 100 mm 100 mm 300 mm 300 mm 300 mm 300 mm 500 mm
TVXE -0.61 % -0.54 % -0.32 % -0.65 % -0.46 % -0.31 % -0.01 %
BIERE Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (LockscrewM2)  Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
R RS FERL I RS ERL S FERLAIH RS RSP
BESH 1" 1" 1" 1 1" 1" 1"
wEOE - M55 P=0.75 M355 P=0.5 M30.5 P=05 M30.5 P=0.5 M30.5 P=0.5 M40.5 P=0.5
52 205 g 1759 130 g 1209 84g 92g 128 g
CVL-2514M1-IR1200 I SERESE
it
LAHE 33.5 417. 526 100%
1200nm )5 | //— \\
0/ - ‘\
© 80% N ——— | \\
o
o & - Yl e \\
° g - S 60% | ]
= § % |
80y |
CVL-2514M1-IR1200 /
0, -
=51 25 mm 20%
ENO F1.4 ~ 16
B0 25.1° x 25.1° 0%
ZRWD 300 mm °
TVEE T oa6% 700 800 900 1000 1100 1200 1300 1400 1500 1600 1700 1800 1900 2000
BIERE Manual (Lock screw M2) [
i< @RS (1200nm) B (nm)
EOSHA 1" — SWIRZRF cvi-2stami-swir = H700nm 2| 2000nm, 11452 25:1480%
gft@ % —— CVL-2514M1-IR1200  JZH:E1100nm ) 1300nm, 535 %6k I
= g

[t
OURS 3

PEEE————
www.hours-web.com



4K resolution & IR-Corrected FFL ~ 4k - 4T4MEZIECCTVEE Sk

14

CVL-IR11 Series
11717 112

XHF12MP - 11" - 3ASHURFIAk ) B
ZISMRIE - NI RSN R R /B &/ME

o 4K PR

o IMRIE - EMIMAERIINIBERBRNME
o THF12MP - 1.1" - 345K

o =ANEFREREINT2mm,16mm,25mm

CVL-1218-IR11

94.5

M52 P=0. 75

¢55

fHie r 87 81
P 1 i

\ G-mount

=~

CVL-1618-IR11

92 17.526
o =
=
QII_ —
gl .=l e
N L. —— S
3 3k
2-M2 Lock screw C-mount

CVL-2518-IR11

109.5 17. 526

]

[

=0. 75

b 46

W43 P
\
51

tey 87
i "t

T T T T
s ol e

\C-mount

CVL-1218-IR11

Sz AL

CVL-1618-IR11

CVL-2518-IR11

£iE 12 _mm 16 _mm 25 mm (25.42)
FNO F 1.8 ~ Close F 1.8 ~ Close F 18 ~ Close
Ei=:] 463° X 614° (Diagonal: 73.3°) 36.0° X 48.7° (Diagonal: 59.6° ) 233° X 31.7° (Diagonal: 39.2° )
ZEIEWD 300 mm 300 mm 300 mm
TVEE -137 % -1.95 % -1.00 %
BRIESE Manual _ (Lock screw M2) Manual _ (Lock screw M2) Manual _ (Lock screw M2)
R Visible ~ 850nm Visible ~ 850mn Visible ~ 850nm
O C-Mount C-Mount C-Mount
EEI 1.1" 1.1" 1.1"
RO M 52 P= 075 M 405 P= 05 M 43 P= 0.75
2 340 g - g 390 g

HOURS

www.hours-web.com



3CMOS FFL / 3cMostaMEEER GEEL

CVL-3CM Series

3CMOSHEIEABAGRERL

* Bt R 3CMOSIEHER
o 1%1/1.8" 3.2MPFI3.45umaHER
o SFREEIERTHIERE, 8mm, 12mm, 25mm

T hrit#tZi 73 CMOSHRHL,
(EERFPRGBEEEH—LF MK

57 17.526, 56 17.526_

CVL-0818-3CM CVL-1218-3CM

0.5

5 2 a =
al 2T ] e g 2 8 g § Lol #
o =2 = © o % F g
=l - e -
= = 7 ¢
2-M2 Lock screw C-mount 2-M2 Lock screw C-mount
CVL-2518-3CM
47.5 17.526_
*i‘__

$36
32
M30.5P=0,5

SONDE 'HB1GC

09-8

) = i 4{
2-M2_Lock screw C-mount

CVL-0818-3CM CVL-1218-3CM CVL-2518-3CM

=== 8 mm (8.28) 12 mm (12.13) 25 mm (25.26)
FNO F 18 ~ Close F 18 ~ Close F 18 ~ Close
0w 36.6° X 47.3° (Diagonal: 57.9°) 25.4° X 33.2° (Diagonal: 41.3°) 12.2° X 16.0° (Diagonal: 20.0°)
FEWD 100 mm 150 mm 200 mm
TVEE -0.81 % -0.80 % -0.16 %
BIESE Manual _ (Lock screw M2) Manual _ (Lock screw M2) Manual _ (Lock screw M2)
e Visible Visible Visible
EESH 1/1.8" 1/1.8" 1/1.8"
RO M 305 P= 0.5 M 27 P= 0.5 M 305 P= 0.5

&= - g 94 g 100 g

HOURS '°

www.hours-web.com



10MP Fixed Focal Length Lens / 155 &= R 28maCCTVEEL

CVL-M10M

1F B BEIINL,

MAROEIEIBRBIZ 200Lp/mmEiEEREE
EC R ESRERIERR

RRE

CVL-1628M10M
£ (f) 16 mm
48 17,526 BAORL 1:2.8
S F2.8 ~ 22
2-M1.7 Lock screw 4 ey (2/3") 24.9° x 29.3°
ZEWD 350 mm
TVERE (2/3") -0.02%
BIERE Manual (Lock screw M1.7)
) PiasN Visible
T =0 C-Mount
3 5 3 =11k 5 B 17526 mm
R —1 1 ) EET 2/3"
—1 RO M34 P=05
— \ g8 #4106 g
RY ¢38(max.) x L =48 mm
C-mount

Lens for S-Mount Board Cameras / &tgissL

CVL-B Series

o BRIEA ASHRSk (M12)
s fN\EERBAER

CVL-B0624M

16

20.5 6. 02 (0)
14
££56 (f) 6 mm
BRAORE 1:24
M (1/2") 43.5° x 56.0°
GBS 6.96 mm
S Mechanical Back 6.02 mm

= L L | o #O M12 P=05

© =~ VSR (1/2") 271%
Eat A 172"
52 #8g
RY @17 (max.) x L=20.5 mm

HOURS

PEEE————
www.hours-web.com



